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vector<int> prime;
is_prime[N];

Eratosthenes( n) {

is prime[@] = is prime[l] = ©;

( i 2; 1 <= n; ++1) is_prime[i] = 1;
(i i =2; 1 <=n; +41) {
(is_prime[i]) {
prime.push_back(i);
*(int 3 =32 *1; 3 <¢=n; J+=1)

is_prime[j] = ©;
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vector<inty> pri;
not_prime[N];

pre( n) {
for (int i = 2; i <= n; ++i) {
f (!not_prime[i]) pri.push_back(i);
(int pri_§ : pri) {
(i * pri_j > n) break;

not_prime[i * pri_j] = 1;
(i1 % prij ==290) {
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° 5%}:—!?» Eﬁﬁﬂqﬁj‘t}’ E»%D a;x; ~+ bi)’i = gcd(a, b) , A = bi+11bi = Qj4q % bi+1’ é\
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int exged(int a, int

if (!b) {x=1, y=0; return a;}
int gcd = exged(b, a%b, y, x);
y -= (a / b) * x; I3 |
return gcd;
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exgcd(
if (!b)
gcd
y =(a/b)?*

cin >> a >> b >> c;
g = exgcd(a, b, x, y);
(c % gl

, maxy, miny, maxx, sum;
minx X >R x%¥Db) 2 x%b

maxy (¢ - minx * a) / b;
miny (y > 0 vy ¥a) 2y %a
maxx - mi b)) /

sum 0;
f (maxx > € 5U (maxx - minx) /
f (lsum) co minx <<’ '<< miny

cout << <" '¢<< minx << << miny << << maxx <<' '<< maxy <<'\n';
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inv[1l] = 1;

for (int i = 2; i <= n; i++){
inv[i] (p -p / 1) * inv]p % 1] ¥ p;
}
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read(){
x =0, tag = 1;
c = getchar();
(; lisdigit(c); c = getchar()) if (c == '-') tag = -1;

(; isdigit(c); c = getchar()) x = (x<<1) + (x<<3) + c -
X * tag;

i main(){

o SN . &
n=read(),p=read(),k=read();
vector<ll> a(n+l),s(n+l),sv(n+l);
s[@]=1;
for (11 i=1;i<=n;i++){

afi] = read();
s[i] = (s[i - 1] * a[i]) % p;

exged(s[n], p, sv[n =3 53

svin]=(sv[n] % p ) % p;
for (1 = s 13 i--)

i
sv[il] i ali + 1] ¥ p;

nowk = K,
(11 1 = 1; 1 <= n; i++){
(ans += nowk * s[i 1] %2 p * sv[i] % p) %= p;
(nowk *= k) %= p;
}
cout << ans <<'\n'
‘turn @:
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